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General
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Problem #1
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exclusion
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Problem #2

Expected S+B
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Significance (fixed mass) :



Look elsewhere effect (signal location
a-priori unknown)

Likelihood fit

Best mass fit=28

“Local” significance = 4.30




Look elsewhere effect |
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Look elsewhere effect

Background-only pseudo experiment

10.46 sz(ﬂ(x.Z)

4

357

o

2.5¢

NI

1.5

A 2logL

l,

U )

| A L & o | 1
0 50 100 150 200 250 300 350 400
m

<Ncm > P=4.6x10*

cu p2
et 1- F.(q SREE (3.30)

_ n T o— T
t'i'"?-(i-l#obser.ued ~ ‘i\__-r\' :’ \/;V' Lobs = "H'\ } @Zﬁ’r






Problem #3
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